
CH1890_(XG-Q-N06)

CH1889_(XG-Q-L13)

CH1885_(HY-Q-J17)

CH1886_(HY-Q-J18)

CH1883_(HY-Q-J08)

CH1884_(HY-Q-J11)

CH1882_(HY-Q-J05)

CH1887_(HY-Q-J19)

CH1899_(AC-X-R17)

CH1897_(AC-X-R09)

CH1900_(AC-X-R20)

CH1903_(AC-X-T11)

CH1898_(AC-X-R16)

CH1902_(AC-X-T09)

CH1904_(AC-X-T16)

CH1906_(AC-X-T21)

CH1901_(AC-X-R23)

CH1858_(BJ-Q-B06)

CH1873_(HO-Q-H05)

CH1869_(HO-Q-H14)

CH1877_(HO-Q-F18)

CH1868_(HO-Q-F05)

CH1871_(HO-Q-H15)

CH1874_(HO-Q-H11)

CH1876_(HO-Q-H06)

CH1879_(HO-Q-F22)

CH1866_(HO-Q-F16)

CH1865_(HO-Q-F13)

CH1913_(BJ-X-V18)

CH1892_(AC-Q-P04)

CH1896_(AC-Q-P25)

CH1907_(BJ-X-V03)

CH1862_(BJ-Q-D15)

CH1915_(BJ-X-V21)

CH1910_(BJ-X-V11)

CH1861_(BJ-Q-D10)

CH1908_(BJ-X-V07)

CH1863_(BJ-Q-D09)

CH1859_(BJ-Q-B05)

CH1878_(HO-Q-F19)

CH1895_(AC-Q-P21)

CH1905_(AC-X-T18)

CH1891_(AC-Q-P03)

CH1857_(BJ-Q-B09)

CH1911_(BJ-X-V13)

CH1893_(AC-Q-P06)

P. oryzae isolates
K=10 K=9 K=8 K=7 K=6 K=5 K=4 K=3 K=2

Membership probabilities
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100

100
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100
100

100

100

100
100

100

100

100

100

100

67
69

100 100

100

100

100

100

100

100

100

100

41

2130

63

74

86

83

90

XG-Q-N06

XG-Q-L13
HY-Q-J17
HY-Q-J18
HY-Q-J08

HY-Q-J11
HY-Q-J05
HY-Q-J19
AC-X-R17

AC-X-R09
AC-X-R20
AC-X-T11
AC-X-R16

AC-X-T09
AC-X-T16
AC-X-T21
AC-X-R23

BJ-Q-B06
HO-Q-H05
HO-Q-H14
HO-Q-F18

HO-Q-F05
HO-Q-H15
HO-Q-H11
HO-Q-H06

HO-Q-F22
HO-Q-F16
HO-Q-F13
BJ-X-V18

AC-Q-P04
AC-Q-P25
BJ-X-V03

BJ-Q-D15
BJ-X-V21
BJ-X-V11
BJ-Q-D10

BJ-X-V07
BJ-Q-D09
BJ-Q-B05
HO-Q-F19

AC-Q-P21
AC-X-T18
AC-Q-P03
BJ-Q-B09

BJ-X-V13
AC-Q-P06

 XG Q N06

 XG Q L13

 HY Q J17

 HY Q J18

 HY Q J08

 HY Q J11

 HY Q J05

 HY Q J19

 AC X R17

 AC X R09

 AC X R20

 AC X T11

 AC X R16

 AC X T09

 AC X T16

 AC X T21

 AC X R23

 BJ Q B06

 HO Q H05

 HO Q H14

 HO Q F18

 HO Q F05

 HO Q H15

 HO Q H11

 HO Q H06

 HO Q F22

 HO Q F16

 HO Q F13

 BJ X V18

 AC Q P04

 AC Q P25

 BJ X V03

 BJ Q D15

 BJ X V21

 BJ X V11

 BJ Q D10

 BJ X V07

 BJ Q D09

 BJ Q B05

 HO Q F19

 AC Q P21

 AC X T18

 AC Q P03

 BJ Q B09

 BJ X V13

 AC Q P06

78

63

49

100

100

65

89

85

100

100

20

100
100

31

71

42

27

95

29

30

86

61

89

99
100

78

100

100

100

8

7

9

7

56

3

5

71
50

11

53

12

32
18

Rice accessions K=2 K=3 K=4 K=5 K=6 K=7 K=8 K=9 K=10

Membership probabilities
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61

65

89
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100

100

20

89

30

95

100

27

42

31

100

100
100

71

100

100

100

100

49
78

63

78

99

12

56

32
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71
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9
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